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BC-12
June - Examination 2016
B. Com. Pt. Il Examination
Elements of Financial Management
Paper - BC-12
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answer as per the given instructions.

fAder: Ig moa-ux ‘31, ‘¥ qAT ‘| = Wuel # g g1 U
Gus & MGATIAR el & IR S|

Section - A 10 X 2=20
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in word, one sentence or maximum
up to 30 words. Each question carries 2 marks.

(Tvs - a1)
(rfer Ty IR Ue)
Ader: At wedAl @1 IR AR M9 B0 IR DI FEATIAR T
91eg, TP a1ag AT AfIHaT 30 geq) § uRAfIT HIvRr udw
T 2 3P Pl gl
1) (i) State two functions of financial management.

o yaver & < Brf g8y
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(i) What is current ratio?
TTe] TUTd Y ad g ?

(i) State the two sources of fund.
IV & I WHE FT T8y

(iv) What is gross working capital?

Fhdt HrRiefer goit @ g2

(v) Explain the meaning of cash management.

Ahs U=y T 37ef FuE Hifvu)

(vi) What do you mean by credit policy?
qrg i | 37T a7 JHeTd § 2

(vii) What is meant by Re-order point? Give formula.
O 3R favg R 8?3 il
(viii) Define financial planning.

ot s & gyt SR

(ix) What are projected financial statements?

y&ifod o faavor =7 g1d 8 ?

(x) What is contribution?
3G &1 g ?

Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg ST UeA)

fAder: gl R "ol & IR SRR MY 37U IR DI 31y

200 9reGi # gRAIRT BRI Ties T 10 3fapi T &l
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Discuss the utility and importance of financial statements.
faxitar faaRuTl &bt IUIIRIAT Ud 7gcd W Ueh1er Siferd |

Calculate,
(i) Cost of good sold and
(ii) Inventories from the following information :

ferfeTRaa JEmmell |

(i) Tepa h AT, e

(i) FP=g BT TUET DI
(a) Sales (fawH) =3 5,00,000
(b) Gross Profit Ratio (Fehel @9 31U ) = 20%
(c) Inventory Turnover (¥h=¢ 37dd) = 8 times

Distinguish between fund from operations and Net Profit.
URETE | BIY TG G o H 3R DI

Explain the operating cycle concept of working capital.

Frfefiet gSit I IR b STERON Bl FIT BT

How is optimum balance of cash determined? Explain.

I8 Y P e WR hd MR fpar S g ? JHssy.

What do you mean by credit standards?

ARg Halfeal ¥ 39 g7 qHSId ¢ ?

What is Inventory Management?
They A T g ?
State importance of Break-Even-Analysis.

s fI9emur &l Heeq qarsd|

Section-C 2%xX20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
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answer maximum up to 500 words. Each question carries
20 marks.
(T@vs - 9)
(Sref ST ¥9d)

fAder : frgl < Ul &1 ITR IR 3MUhT U7 IR BT 31ferhad
500 9rsci H gRAIT BT g1 UAb U9 20 3ihT &l ¢

10) What are the profitability ratios? Explain profitability ratios with
the help of an illustration.
CTTHQIRIhT YT T 27 U ISIERYT Dl FERIAT | SATISRIBdT
3T Pl ALY |

11) Calculate funds from operations from the following information

of Dheeraj and Company Ltd. :
fIvsT Qs gt o1, Y e forRad gemm & Feme d @Iy &t

TOET HIFTT

Profit and Loss Account

To Expenses 15,000 | By Gross Profit 45,000
To Depreciation 15,000 | By Rent 2,500
To Loss on sale 3,000 | By Commission 1,500

of furniture
To Goodwill 5,000 | By Profit on 1,000

sale of machine

To Discount on 2,000

issue of shares
To Net Profit 10,000

50,000 50,000
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12) What do you mean by ABC analysis? Explain with the help of
an example. Describe its advantages.

vl faecimur 3o R GESIT €7 STENU d HEdr
TEATGA | 3D ATHI BT guie HIRR |

13) Tiwari & Co. produces a single article and sales it at ¥ 200
each. The marginal cost of production is ¥ 120 each. Fixed
cost for the month is X 8,000. Calculate :

(i) P/V Ratio

(i) Sales at B.E.P.

(iii) Sales to earn a profit of ¥ 10,000
(iv) Profit at sales of ¥ 60,000

RIaRt (08 PPl Uep 9 T UG Rl g 3R I 200 2.
Uil SH1E Pl R A Jchl g1 SUIGH &l HHT AR 120 B, Ufy
SPHIE 21 AIE &I TARM AR 8,000 T. gl AT HIfT

(i) @ AT ST

(i) = e fomg o) faspa

(iii) 10,000 . &9 IR PR &g fIha

(iv) 60,000 . hI farchl TR Y
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